& Exampapers247 & Exampapers 247

Kolkata Previous Year Paper
Police Si 2012



https://www.testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp&hl=en_IN
https://play.google.com/store/apps/details?id=com.testbook.tbapp&hl=en_IN
https://play.google.com/store/apps/details?id=com.testbook.tbapp&hl=en_IN
https://play.google.com/store/apps/details?id=com.testbook.tbapp&hl=en_IN
https://play.google.com/store/apps/details?id=com.testbook.tbapp&hl=en_IN
https://link.testbook.com/bQQ2EkH1bpb

& Exampapers247 & Exampapers247

CD/2012
1. ‘\:11%4 of the fraction is the least? 1. @& s weens

F, :-i 14
_ (A) 53
® { 10
(m 100 e =]
A © 5
D) & 68
o (D) &

2. Shown here are cquations given (o Seema. Anees 2. FW, TaA, = o OATE @ 5D wEmRe mem

Asha and Tessy with their answers.

Seema : 4x]1+8-2=8§ §":f 4x1+‘5¥.—;:R‘ )
Ances : 6+4+2-1=4 = 6+47171—-Iz
Asha 9+3x2-4:2=10 Belet, ¥ D ,'jﬁ_n
Tessy 27+« 3=2x3=21 . gl o= N
3 2 J=2e 3 = o 27 +3-2x3=21
Who has got the correct answer? = TEe w0 e
(A) Seema e =i
(A) #T<
(B)Y Anees (B) ===
1(_) 4.~ha (©) =
(D) Tessy L
. (DY &A1
I A=34:56 3. 9f A =3/4 +5/6,
B=3-[(4-5)-6] =7+ [(44 5)
e B=3+[(4+5)+6]
D3 ,.4((“3 -'ni:] bt fo=13 (1 £ 5)] #1008
T‘hnr . i D=3+4(5+6)%Z0 TN
en - : e
(A) A and B are equal “A‘? i “:'?j Ei "
(B) A and C are equal 1‘1_3‘) A 9| CHTHA
(C) A and D are equal (C) AT DFI=
(D) All are equal (D) 72=E st
4. Malala Yousufzai 1s a name which recently came 4. ITEEElE aD TEe TR 4UTE IR
into news. She is a &t wem
(A) Pakista1 Women Rights Activist shot by (A) “=wi= 72 =fige o=EeeT TR «wR

Pakistani Tahban
{B) External Affairs Minister of Bangladesh
(C) New Women Judge appointed to Madras

Tiam ¢ offre wige
(B) aewrea faprad

: (C) === T <o "ange T e
High Court daler (D) &3 B e &% ¢ =2 7Ry o=k
(D) Eminent Urdu wniter who received this vear's BT (STETER
Sahithva Academy Award = LS
5. Who has been appointed as the Chief Economic | 5. TRT FIEEE TETMER I QRS SN e
Advisor (CEA) in the Ministry of Finance? Licite T
(A) Kaushik Basu (A) @Fz 3

(B) Raghuram G. Rajan
() Viyjov L. Kelkar
(D) Indra Rangarajan

(B) TR = EED)
(C) fe=T 5. @=ee
(D) %= TATs=

6. Which one of the following pair is comectly

ched? 6. FEERT @R el Wew
ma p — 1(5.&‘;»
(A) Dipika Kuman — Badminton lg; ?.fm‘ 3 :’_E !

(B) Knshna Poonta — Archery ( Ewﬁ%‘%m Sl

{C) Vigender Singh — Athletics (©) :ﬁ’-” R — TN

(D} Gaganjeet Bhullar — Golf (D) se=fEFe TR — e
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7. Conuder the following statements

I. Sachin Tendulkar is the first Indian Spons
person to be conferred with the membership
of the "Order of Australia’.
I'ormer Attorney General Soli Sorabjee was
the first Indian o he made an Honorary
Member of the *Order of Australia’
Of these
(A) 1iscorrect but 2 18 wrong
(B) 11v wrong but 2 is correct
(C) Both are comrect
(1) Both are wrong

9

B. The Instrument converting mechanical energy into
clectrical energy is called
(A) Dynamo
(B) Transformer
(C) Llectrometer
(D) Moto

. A liquid drop is spherical in shape due to
(A) Atmospheric pressure
(B) Surface tension
(C) Viscasity
(D) Weight

10. When a gas is compressed suddenly then its
temperature
(A) Rises
(B) Decreases
(C) Remains unchanged
(D) None of the above

11. Computer Programme consists of

{A) Instructions and Dala

(B) Low level language

(C) Instruction data and Low level language
(D) Data

12. Where is the Central Rice Research Institute
located?
(A) Bhubaneswar
(B) Kolkata
{C) Bangalore
{D) Cultack

13. Which of the following fraction is the largest?
(A) 15/19 '
(B)y 29/33
() 1317
(D) 377

& Exampapers 247

7. Mg armoferd e A i
| wfpd (regaad md SITL
i Hﬁfﬂ?ﬂ' e (RAT L3
2 e WA (AT e carals aww g e
Wra sl g Wt AT B A

rarnffene e e

(A) | 53, 299
(B) 1ya, 20
(C) 45z =
(D) 4% g7

8. @ Trga N e e tamfaa wifare merge,
= 7% i1 53
[A) SR
(B) GrawAEa
(C) Freediasm
(D)

9. wam stdz a¥G (rEnly TaTTE TAS
(A) AR 519
(B) 7¥hts
(C) wrHEt
(D) «&A

10, T3 g2l SHE Zoe AQGHT T W TUw T
T
(A) "}fﬁ Bl
(B) 59 M
(C) mefeafés awz
(D) Teaa cawAhE 7

11, f=rEhmra consmm fa & arame
(A) Firietrad @ ey
(B) fawgraa s
(C) Fimf s wo g2t frmwreg o
(D) =%

12. A AW s of S T s v
(A) 9=
(B) TwwTe
(C) amwema
(D) =

13, frfafis smefim g it qaeas
(A) 15/19
(B) 29/33
(€) 1317
(D} 3/7
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14, Indian Standand

e v ahead of Greenwach

Mean Tune by

IS,

(A 2 and 172 hours
(BY 3 and 172 hours
(Cy and 172 hours
(IS and 172 hours

Which one of the following o highest living tree?
(A) Lucalyptus

{B) Palm tree

(C) Sequea

(1) Tree Fem

16. Which one of the following s not caused by
Baclena?

17.

18.

(A) Typhoid
(B) Influenza
(C) Dipthena
(D) Cholera

Blood is formed 1n the human adult in the
(A) heart

(B) spleen

(C) red bone marrow

(D) yellow bone marrow

In which organ does the formation of urea always

take place?

19.

20.

(A) Kidney
(B) Liver

(C) Spleen
(D) Thymus

Find out the odd word
(A) Cabin

(B) Compartment
(C) Cargo

(D) Berth

Select the plural form of “Leaf”
(A} Leafs

(B) Leaves

(C) Leafings

(D) Leafing

C-5
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14, wradhy s (wid on B Fasiy auoay (e au )

e afsi e

2\ ed
3w
7ie®
s\ed

(A)
(B
()
(D)

15, Sipa smeofaa wu cova sl same (b s
(A) TEEIfAAD™
(B T
() fefadm
(Dy

16, T =l ardfmm abe s
(A) RO
(B) Tegrous
(C) foerufam
(D) IR

17. =iq IS THAHR @F W01 3G S e
(A) =Zeforo
(B) &
(C) o =ify e
(D) =T =Y v

18. Hera oo st 7 RS ofde e
(A) Tagfy
(B) w§e
(C)
(D) =™

19, Find out the odd word
(A} Cabin
(B) Compartment
(C) Cargo
(D) Berth

20. Select the plural form of “Leal”
(A) Leafs
(B) Leaves
(C) Leafings
{D) Leafing
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21. Select the plural form of “Staff™
{A) Staffs
(B) Suaf
(C) Staff
(I Staves

22, Find oul the odd word
(A) Relation
(B1 Related
(C) Relate
(D) Relanvely

23. Find out the error

Bread and bumer  are  our usual breakfast

1 2 3 4

(A) |
(B) 2
{(C) 3
(D) 4

24. Fill 1n the blank with the correct word-
The burglar managed 1o get aw ay with a huge _
{A) haul
(B) hall
(C) hail
(D) all

25. Fill in the blank with the correct word:
Our soldiers the encmies attempt.
(A) foiled
(B) poiled
(C) bailed
(D) filed

26. Fill in the blank with the correct word
My father alwavs wears _ shims
(A) loose
(B) lose
(C) loos
(D) luz

27. Select the correct VOICE:

Chennar Fort _ n 16th Centuny
(A) 15 built

(B) was built

(C) has buih

(D) had buih

https://link.testbook.com/bQQ2EkH 1bpb

21. Select the plural torm of “Statt’
(A} Stalls
(B} Stat
(C) Staff
(D} Staves

22, Find out the odd word
(A) Relanion
(B) Related
(C) Relate
(D} Relatively

[
Tad

. Find out the ermor
Bread and butter  are ,
1 2 ; .. ]
(A
(By 2 }
(C) 3
Dy 4

our usual  breakiaag

24. Fill in the blank with the corTect word
The burglar managed 1o getanway with a huge
(A haul
(B) hall
(C) hail
(I an
25, Fill in the blank w ith the cormect word
Our soldiers — the enemies attempt
(A) tfoiled
(B) poiled
(C) bouled
(D) filed

26. Fill in the bMank with the comect word
My father always wears shirts
(A) loose
(B) lose
(C) loos
(D) luz

27. Select the cormrect voyce
Chennai Forp
(AY 15 by
(B) was built
(C) has byl
(D) had byl

— 1&gy Century
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28. Choose the cotrect “synonym’ for the underlined
word from the option given
Fhe party ended ma preat tigseo
(A) dhsorder
(B) gaety
(C) entertnmment
(M rejoicimg

29, The werpht of a body s
(A) the same everywhere on the surface of the
carth '
(B maximum at the poles
(C) maxumum at the equator
(D) more on the llls than in the plans

30. Radwacuvity was discovered by
{A) Pererre Curnie
(B) Madam Cune
(C) Ruther Ford
() Henn Becquerel

31. Hydrogen Bomb is based on the principle of
(A) Nuclear explostion
(B) Nuclear fusion
(C) Nuclear fission
(D) Slow reaction

32. Unit of the intensity of sound is
(A) Farad
(B) Decibel
(C) Ohm
(D) Pascal

33. Why do rain-beaning cloud look black?

(A) all light is scattered by ramn

(B) they reflect the sunhght back mto the
atmosphere

(Cy the large number of water droplets in them
absorb all the sunlight

(D) there is a lot of dust condensed on the watet
vapour in these clouds

34. In mountain because the atmospheric pressure is
low, the boiling point of water
{A) decreases
(B) increases
(C) may increase or decrease
(D) remains the same

& Exampapers247
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28. Choose the correct ‘synonym’ {or the underlmed

word from the opuon given

e party ended moa preat Basco
(A) disorder

(B)Y paety

(C) entertamnment

(I rejocimyg

29, =diraq ama
(A) .,I,.,j-[_‘)} a wdq e
(B) ane #fifum
(Cy Seramaraat fgfaya cranns mdie
(1)) e cura Ame cafs

30, cemfgue wiama srafrem
(A) T 4fa
(B) wwra ¢
(C) W19 (TG
(D) czsid) Craniraa

31, fnfafie o Afva Bxa gy @ wifae ¢
(A) sitmnetaa farpraa
(B) #hamsfaz o=
(C) =tramnafas fasrea
(D) Bra fafamw

32, WY AT 99
(A) TMars
(B) cubiras
(C) ogu
(D) =P

33, TETEA| (VY IIEA T (@A 7
(A) €31 g wirer wfsn o
(B) @31 ngwers pheew dfeufEre aa
(C) 93 Wiy @ T Gwrerd ahbfefd e @

it ara
(D) &% W1 (TSR G Anew g i e
g AT

34, +10S AReAl se W (0Y, SEY FoATE
(A) aman
(B) 4% #m
(C) AW0E A1 AYCS A
(D) &g 4

[Please Turn Over
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35, Look af s senes ¥ A3, 11 AL W

What number should fill in the blaok?

C-8

A&, sty (=Wl o

wargTa (1R N eIt

& Exampapers247

PO TR O O 1 PR M (e

(A) § (AY R
(B) 14 @ 1
TSRER () 4N
4 A 4

. What comes net i this senes?’
FAG GALL TIAL TANL

6, o2 Piianddoe Waad) te i
[ AG, GAEL HAL TARL

(A JAR ) JARK
u}‘\ GAK () GAK
(&) M‘,. W AL

(DY HAK (M HAK

A7, Bats can (v n the dak wthout hattiing anything
because
(A) they are flying mammals
(B) thetr mght vision 1s good
{C) they are gurded by ultrasome waves produced
by them
(D) of no scientilic reason

37, 1 R T 1 ST INfE J10E Sune WY, ITad
LAY Ty wensir) =)
(1) Qa1 214 @1 (rEng ST
() wgea faromwa R wee afed (58 wiat sttt
w
() (wta S erad (1%

A8, ¥ wy=rfe W
LAY 746 sal

38. One horse powet 1s equal o
{A) 746 watls

(B) 744 watts B3y 744 sy
(CY 745 watts (C) 745 6t
(DY 747 watts (N 747 &1l

39, Wiich one of the following paurs is not correetly

39, deva i b core wmy wY
matched?

X (A) IRFETTG —  ouib
(A Kakrapara Gujarat (B) Darge — @

(B3) Hirakud — Onssa - (€) &g - W?Wﬁ
(C) Mettur Tamilnadu am .\&,i&t — way
(D) Tungabhadhry Maharastta q

40, What s the important function of Parhament?
1A) Governing
(B Law-making
() Collectung tanes
(M Cnticising Govermment

40, WAMY 'UW'Iiﬁf E - ﬁs?
(A) oM Afsner e
(B) uika gmE
(C) TEY WEE
(1) ATITRQ ARG

A1, Which  State  Leenstatnve  Assembly  has  the ST . . )
maximum strength” : ] . (T:{‘::‘ !&Wg R R A
(A Andhra Pradesh B) #f
(By West Bengal (C) T s
(Cr Uttar Pradesh " Wﬂ
(D) Maharastea
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41 The Pundamental Rights of the Indian Constitution
are enshomed in

(A Part 111

B Pan Iv

(W) Preamble

(Y None of the above

41 The Consttution of India came into force on
LAY Fannany 29, 1948
(B January 26, 1950
(Y January 26, 1952
M January 26, 1954

A I+ 4% 10"+ 7 x 10"+ 5 is equal to !
(AY 3004705
(BY 475 x 1010
(Y 04705
(DY 347500

48, Sum of two numbers is 32, 1T one of them is -3b,
then the other number is
(AY -4
{B) 4
(C) - 68
(D) 68

46. 2" - 1 is divisible by
(A) 2
(B3 3
4
(D 10

47. A car goes one kilometer at 30 km per hour and
then goes another one Kilometer at 40 km per hour. The
average speed (in kevhour) of the car for two km is

(A) 35

(B) 4%
© nv
(D) 1

48 4-(2-9P+F ¢ 1 ¢ 3isequalto
(A 17
(B) 16
() 15
(o 12

& Exampapers247
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42, i sifaamr e alvemof cem Eufie
Y
(A = 1]
(B & 1Y
(CY U
(D) Seray (eWBE v

43, Ava Thfre eficofe e e wadu sidaem
qqe Y
(A) B 209, 1948
(B) & 26, 1950
(C) wrEmd 26, 1052
(D) wrEEd 26, 1954

W Ix10°+4x10'+ Tx 107+ S =1
(A) 30047GS
(B) 3475 % 10"
(CY 304705
(DY 347500

45, 4% W cueew 32, 97 93 AN -36, wWe
Yl s
(A) -4
(B) 4
(C) -68
(D) 68

46, 2'° - | 5w R Ml wrm e ¢
(A) 2
(B) 3
4
(DY 10

47, <aP o 30 B/ R | AR o Ao
| R, T 40 Rf/M. oftTan, 2 Rt vy aiftn @
sfdas (e e) wo

(A) 35

(8) MY
() 3
(D) 331

48, 4-(2-9P+¥ ¢l +3a?
(A) 17
(B) 16
(C) 18
D12
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49. A Car battery contains an electrolyte of 49, =l «rfza qitfare fa g efvefarm) are
(A) Potassium Hydroxide (A) «ifam et wmids
(B) Nitric Acid (B) Al uphbe
(C) Sulphuric Acid (C) =mafrsfas =rhis
(D) Lactic Acid | (D) =rafia wife
§0. Who was the first Indian Governor-General of 50. TR srarea wem w1Adm sreda @arad o e
Free India? (A) ¥ amesT “5a
(A) Sardar Vallabhbhai Patel (B) & amrsteramnsf
(B) C. Rajagopalachan (C) &% &% WEGHa
{C) Lord Lows Mountbatten (D) Zazraaa =39
(D) Jawaharlal Nehru
51. Maximum amount of Coffee producing State of §1. srarTa FAuerm (A afip Tawmaary ang oo
India 15 (A) =fsay
{A) Tamilnadu ‘ (B) =% o=
(B) Andhra Pradesh (C) cFamn
(C) Kerala (D) 3=
(D) Kamataka
§2. The agent which 15 oxidized in Photosynthesis is 52, aninfea ag m ATy wrA wrfas 2
(A) Carbon dioxide (A) Tda ie-wyms
(B) Chlorophyll (B) @afra
(C) Sun hght (C) e
(D)y Water (D) ==
53. Booker prnize 1s awarded in the field of 83, oW f qara vanta e @ o
(A) Literature (A) 5fzg
(B) Medicine (B) fBfzesmfamy
(C) Science (C) fammm
(D) Social Service (D) Hwrairya
54. Who was the first batsman to reach 10000 runs in 54. 5% farad =uw 10000 24 Ree araTea A
Test Cricket? TG v '
(A) Sachin Tendulkar ) (A) =59 (oosa
(B) Allan Border (B) wras age
(C) Sunil Gavaskar (C) ¥t strergra
(D) Rahul Dravid (D) 7ms ufas
55. Which mineral or crop is called Black Diamond? 55. @ e ot o N B are s
(A) Iron (A) (o
{B) Coal (B) a7t
(C) Coffee (C) =fp
(D) Tea \ “)) B
56. {T)m?;:;‘ih?;a Paramhansa was associated with 56. AT TG (3 A A s Szt
ey (A) @k
(B) Tartapith (B) s
(C) Bakreswar (C)
(I3) Dakshineswar (D) wFarsmya
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57.

59.

The biggest planet of the Solar system is
(A) Saturn

(B) Jupiter
(C) Earth
(D) Mars

. Brahmo Samaj was founded by

(A) Raja Rammohan Roy
(B) Iswarchandra Vidyasagar
(C) Swami Vivekananda

(D) Rabindra Nath Tagore

Dry ice is

(A) Carbon monoxide
(B) Carbon with solid ice
(C) Solid carbon dioxide
(D) Sulphur Trioxide

. Fountain Pen was invented by

(A) C.V.Raman

(B) Louise E. Waterman
(C) Vannevar Bush

(D) Alexzender Graham Bell

57.

58.

60.

& Exampapers 247

(MATSY WA G 95 791
(A) =fa

(B) 7&=if®

(C)y =ffard

(D) W=

arst smEa Aot feraa
(A) 781 ATz A7
(B) #av fawrnara
(C) TR faraenm

(D) 78 $13a

. o Fa & ura sfde e

(A) T4 ETATHIZS

(B) =fdm aarwa s 14
(C) =i F4a TR-wwWES
(D) FEroR GiE-SwiEs

TRECGA (A2 WAwTad ZEA
(A) B fe. mm

(B) =37 2, eubraw

(C) oS

(D) STFETES WA A

CD/2012

Page- 9


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

	1_Page_1
	1_Page_2
	1_Page_3
	1_Page_4
	1_Page_5
	1_Page_6
	1_Page_7
	1_Page_8
	1_Page_9

